
42. Stakeholder Perspectives

1. Missing words
Stakeholders are individuals or groups with an interest in the actions, successes and failures of an organisation. They include the owners (in an unlimited ____________________ business), the ________________________ (in a limited company), staff, suppliers, customers and local residents. Some writers suggest that modern firms take care of all their stakeholders, whereas others believe that firms focus upon shareholders rather than the wider interests of all their __________________________. Company law used to insist that Directors’ primary responsibility is to their _____________________________; this is no longer the case, but Directors often act as if it’s still true.
2. Which stakeholder group is affected most by each of the following decisions?
2.1 A move to a policy of JIT ordering of materials. 

2.2 To adopt a strategy of non-replacement of staff.

2.3 A switch in transport policy from delivering by rail to using the roads.

2.4 A decision to cut dividends by 20%. 

3. Give two reasons why:

3.1 It might be short-sighted to focus solely upon the interests of shareholders ______________________________

______________________________________________________________________________________
3.2 Treating all stakeholders as equal may threaten a company’s performance _____________________________

______________________________________________________________________________________

______________________________________________________________________________________

4. Data response:
Look at the following data relating to two producers of cement, then answer the questions below.

	
	Producer A
	Producer B

	Profit as a % of sales revenue (profit margin)
	8.4%
	6.7%

	Staff absence for health & safety reasons (% per day) 
	3.5%
	1.6%

	Average credit period before paying suppliers
	92 days
	64 days

	% cement dust emissions escaping from factory
	2.9%
	1.3%


4.1 Which producer seems to act more responsibly towards its staff?  _________________________ .
4.2 Which producer seems more focused upon its shareholders than its stakeholders? _____________________.
Briefly explain why you say that: _____________________________________________________________

_____________________________________________________________________________________
4.3 Why may there be a conflict of interest between stakeholders, if company A was deciding what to do about its cement dust emissions? ____________________________________________________________________

______________________________________________________________________________________
4.4 What evidence is there that producer A may be acting in a short-termist manner? ______________________

______________________________________________________________________________________ 
42. ANSWERS – Stakeholder Perspectives 

1. liability, shareholders, stakeholders, shareholders

2.1 Suppliers

2.2 Staff

2.3 Residents/the community generally

2.4 Shareholders

3.1 If staff become alienated the business may become less competitive; profit maximising pricing may alienate customers

3.2 Stakeholders’ interests can conflict, eg increasing capacity may please shareholders and staff, but upset local residents, so total even-handedness may not work; decision-making may become too slow

4.1 Producer B

4.2 Producer A; making good profit, but perhaps at the expense of its suppliers, staff and local residents

4.3 Shareholders might want the cheapest solution, while residents want the best solution.

4.4 Profit focus may lose staff and supplier goodwill, which may cause difficulties later on.
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